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CALLGUID(Global Unique Identification)= S22l MZ CIE 21 S S&& AlEst
2IL|Ct. CCE(Contact Center Enterprise) 7 12.5 O|st0 M & & 20| ET@ EE= T
E &g molct CallGUID7t E2ti&LICE TCD(Termination Call Detail) Ei|0[& 01/ A O]
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& ol0|ME &2 25 CUCM(Cisco Unified Communications Manager)2| LM 5 0|0d & AKXt =
PSTN(Public Switched Telephone Network) 13 JL|Ct.

CUCM 198.18.133.3.
HEEH 1 LM #HZE 1080.
PSTN & &I%t

ZEHRl SE
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1) PSTN > CUBE > CVP > ICM > VVB > CUCM > Agent.

2) UCCE —&—> CTI B2 Z?2IE —> ICM —> CVP IVR(Interactive Voice Response)0i| A &5t
C

1) PSTN & &K} 7} TEN(Toll Free Number)2 2 Z3tE 2T CUBERt CVP7} Rt 2 4= &1L CH
2) XM S5t 552 HE F LM HE 10802 AHE5t01 2 FH 10AH S3t7t 2t ELICH

3) (lO|ME 12 IVRE 7| I3l Finesse & Dials CTI RP(Computer Telephony Integration Route
Point)of| A & &S MEHEFLICEH
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ACDOIX S3H& +4&lst= OO|HE(L E S EH)

23:40:48:353 pg3a-opc F*: DEVICE_TARGET_PRE_CALL_IND(DATA PENDING): PID=5000
RoutelD=0 XrefID=0 NetworkTargetID=0 AGInst=1080 DelayQTime=0 SGDelayQTime=0
DelayRtrTime=14 SvcSTID=-1 STargetType=-1 STID=-1 SGID=5175 AGSTID=52 rtrCK=(154322-
3327) RtrSeq#=1 ECCSize=617 ANI=9194573990 Dialed#=6016 CED= NICCalllID={PCID=0
RCID=0 Remote=0,0 DIgID=0x0 RemDIgID=0x0 Grp=0 Data=0 RtrData=0
CCID=x00000000/x00000000} NIC_CalledPartyNumber=6016 CallTypelD=10697
NetworkCallFlags x1 CallGUID=AFC82A800001000000002946038512C6
LocationParam(PKID=,Name=) SIPHeader=Remote-Party-ID~rem AgentGreeting=
CustomerDefinitionID=1 ServiceReq=0 ECCPayloadlD=1 NumEnabledServices=2
EnabledServiceTypes=[1 2] CCAlIConfigParam=4f62417b-bbea-44b9-9ba0-ba3e51ad8272
OrigRCCallID={PCID=5002=5001 DIgID=0x319c} OrigOperationType=0

23:40:48:505 pg3a-opc FX: CSTA_DELIVERED(PID=5000):
Conn=(CID=24247807,Dev=9194573990,Type=Dynamic) AlertingDev=(DEV)1080
CallingDev=(DEV)9194573990 CalledDev=(DEV)1080 LastRedirDev=ID_NOT_KNOWN
localConnlinfo(2)=CS_ALERTING cause=-1

S3t7t dEE[o] §E M AZEH

23:40:50:736 pg3a-opc FA: CSTA_ESTABLISHED(PID=5000):
EstablishedConn=(CID=24247807,Dev=1080,Type=Static) AnsDev=(DEV)1080
CallingDev=(DEV)9194573990 CalledDev=(DEV)1080 LastRedirectDev=ID_NOT_KNOWN
localConnlinfo(3)=CS_CONNECT cause=-1

23:40:50:736 pg3a-opc F™: &3}::CallConnected - | S5+l - CID:24247807(0x534a498),
SkgGrp=11720877, Agent=1080 STID=5172

23:40:50:736 pg3a-opc FH: &3}::SetConnected(PID=5000): & & & LIM 15 (ext=1080
agent=0x04E5BB70 skillGroup=11720877 line=0(SrclD=24247807 DestlD=24247807).

HEHHO| IVREL| 4EH MEE THA| A[ZHCUCM CTIRP &1})

23:41:12:561 pg3a-opc FX: CSTA_ROUTE_REQUEST(PID=5000): currentRoute=3338
callingDevice=1080 routedCall=(CID=2130706437,Dev=1080, Type=Static)
RoutingCrossReflD=65539 RoutedSelAlgorithm=4 Priority=0

23:41:12:561 pg3a-opc F*: CSTARouteRequest_PD: COC=(CID=24247807 DevIiD=1080
DevIDType=Static) PrefAGSTID=-1 RouteData=(DevNum=-1 DevIDType=-1
DNIS=)RRType=TRANSFER ECCSize=617



23:41:12:561 pg3a-opc F*: CSTAUpdateConsultativeCallsContext-UpdateCOCPointers
Original(24247807) Consult(2130706437)
23:41:12:561 pg3a-opc F*: AddRoutedCall:: XreflD=65539 CalllD=2130706437

olo|ME S| A E3}7F MME|X|B CallGUID7E SYUEHH S XIZ|D 2He 2 £ Qe
U o|E o] YR 7t E A|E LICHOperationType=CONSULT)

23:41:12:561 pg3a-opc F*: SendINRCMessage: NEW_CALL RCID=5000 PID=5000 DID=65539
DIDRelSeg#=0 GrpDelKey=5000 CRS(RtrDate=154322,RtrCID=3327) RCKSeq#=3
NICCalllD={N/A} PGCalllD={N/A} OperationCode=CLASSIC OperationFlags=COOP_NONEO|z}
1 g PARTY#=3338 CalLINGParTY#=1080 CED=3338 MsgOrigin=1 RouteDevType=6
Originator=-1 NICCalledParty#= NetDelay=0 4 &=%/=0 OrigType=0 atVRU=F CLIDRestrict=F
PrefAGSTID=-1 MRDomainlD=1 LegacyPreCallMsgEnabled=T CID=2130706437, ServiceReq=0
QueueType=-1 QueuelD=0 CACICOnFIGParAM=4F62417B-BBEA -44B9-9BA0-BA3E51AD8272
OperationType=CONSULT CallGUID=AFC82A800001000000002946038512C6

23:41:12:561 pg3a-opc &A: ICR_NEW_CALL_REQ: PID=5000 RCID=5000 CID=2130706437
XReflID=65539 DN=3338 ANI=1080 CED=3338 RouteDevType=6 Orig=-1 Pri=0
RtrCallKey=(154322-3327) Seq#=3 Op=CLASSIC OpFlags=COOP_NONE NICCAILEDParTY#
NICCall ID={N/A} PGCallID={N/A} RouteData=(DevNum=-1 DevType=-1 DNIS=) ECCSize=617
PrefAG=-1 CallGUID=AFC82A800001000000002946038512C6 CCAIConfigParam=4f62417b-
bbea-44b9-9ba0-ba3e51ad8272, OpType=CONSULT
OrigRCCalllID={PCID=502,RCID=51=500,DID=0x319c}

23:41:12:577 pg3a-opc FA: ICR_CONNECT: RCID=5000 CID=2130706437 XReflD=65539
RoutelD=-1 RouteSelect=88811110001670 RouteSelectState=0 TRPerTID=-1 ErrorCode=0
RCK=(154322-3327) UUI= ECCSize=613 ECCPayloadIlD=1 InvokelD=10699
CallGUID=AFC82A800001000000002946038512C6

P

23:41:15:097 pg3a-opc FA: CSTA_CONFERENCED(PID=5000):
PrimCall=(CID=24247807,Dev=1080,Type=Static)
SecCall=(CID=24247808,Dev=88811110001670,Type=Dynamic) ConfController=(DEV)1080
AddedParty=(EXTERNAL)88811110001670
Party=(CID=24247807,Dev=88811110001670,Type=Dynamic) localConnInfo(3)=CS_CONNECT
cause=-1

23:41:15:097 pg3a-opc FA: Call:SetCallState(PID=5000) - CalllD=24247807
CallObj=(0x5cf5510) NewState=CONNECTED OldState=NONE.
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23:41:15:097 pg3a-opc FXA: Call::AddConferenceParty - Conference party
(calllD=24247807(0x5cf5510) Device=9194573990 24247807 DevType=Dynamic) ADDED to
callObj=(0x5¢c9e238)(numParties=1).

23:41:15:097 pg3a-opc F*A: Call::AddConferenceParty - Conference
party(calllD=24247807(0x534a498) Device=1080 DevType=Static)7}
CallObj=(0x5c9e238)(numParties=2)E S & 35t7| ?I3ll 24247807.

23:41:15:097 pg3a-opc &2 Call::AddConferenceParty - Conference



party(calllD=24247807(0x5cf5a98) Device=88811110001670 DevType=Dynamic)7}
CallObj=(0x5c9e238)(numParties=3)& S &5t 7| 2|5l 24247807.

23:41:15:097 pg3a-opc FX: CSTAConferencedEvent - 13} 3] 9| T}E|(calllD=24247807
Device=88811110001670 DevType=Dynamic)

TCD(Z 2 83t M2 HE) Elo|20A S8 CALLGUIDE = == &Lt
SRR e e
CaIIGUID Diate Time AN AgertSkill TargetlD  CallDisposttion  RouterCallkey  RouterCallKeyDay

1 AFCB2A800001000000002546038512C6 20230710 23:40:48 320 9194573330 NULL 13 3327 154322
2 AFCB2AS00001000000002946038512C6  2023-07-10 23.41:18.313 1080 NULL 13 3327 154322
3 AFCB2A800001000000002946038512C6  2023-07-10 23:41:18.313 1080 NULL 13 3327 154322
4 AFCB2A800001000000002946038512C6  2023-07-10 23:41:34 317 5194573990 NULL 13 3327 154322
b AFCB2AS00001000000002346038512C6  2023-07-10 23.41:34.347 1080 B172 14 3327 154322
& AFCB2A800001000000002946038512C6  2023-07-10 23:41:44 357 9194573930 5172 30 3327 154322

™ 12.5 O|5te| RtM|Et St & M
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14:16:28:908 PG1A-opc &=%1: DEVICE_TARGET_PRE_CALL_IND(H|O|E| E& &): PID=5000
RoutelD=5000 XrefID=0 NetworkTarget|ID=0 AGInst=7311 DelayQTime=0 SGDelayQTime=0
DelayRtrTime=31 SvcSTID=-1 STargetType=1 STID=507 agstid=5001 RtrCK=(154323-330)
RtrSeq#=1 ECCSize=38 ANI=5150000 Dialed#=3000 CED= NICCallID={PCID=0 RCID=0
Remote=0,0 DIgID=0x0 RemDIgID=0x0 Grp=0 Data=0 RtrData=0 CCID=x00000000/x00000000}
NIC_CalledPartyNumber=3000 CallTypelD=3 2 NetworkCallFlags=0x1
CallGUID=F9EDF200000100000000001A07990A0E LocationParam(PKID=,Name=) SIPHeader=
AgentGreeting= CustomerDefinitionID=1 ServiceReq=0 ECCPayloadID=1

14:16:29:002 PG1A-opc &%: CSTA_DELIVERED(PID=5000):
Conn=(CID=16799324,Dev=5150000, Type=Dynamic) AlertingDev=(DEV)7311
CallingDev=(DEV)5150000 CalledDev=(DEV)7311 LastRedirDev=ID_NOT_KNOWN
localConninfo(2)=CS_ALERTING cause=-1

S2H7h dET(o] #E I 4 E

14:16:35:247 PG1A-opc F&2: CSTA_ESTABLISHED(PID=5000):
EstablishedConn=(CID=16799324,Dev=7311,Type=Static) AnsDev=(DEV)7311
CallingDev=(DEV)5150000 CalledDev=(DEV)7311 LastRedirectDev=ID_NOT_KNOWN
localConninfo(3)=CS_CONNECT cause=-1

14:16:35:247 PG1A-opc F2: &3}::CallConnected - | 33 HE E! - CID:16799324(0x4b760d8),
SkgGrp=13659151, Agent=6093048 STID=5001

14:16:35:247 PG1A-opc &X: &3}::SetConnected(PID=5000): & =& LH4d #H3 (ext=7311
agent=0x04AF0040 skillGroup=13659151 line=0(SrcID=16799324 DestID=16799324).

AtEr2IO| IVRE Q| M E F& S CHA| AIZHCUCM CTIRP £1)



14:16:44:414 PG1A-opc &™: CSTA_ROUTE_REQUEST(PID=5000): currentRoute=111
callingDevice=7311 routedCall=(CID=2130706434,Dev=7311,Type=Static)
RoutingCrossReflD=65540 RoutedSelAlgorithm=4 Priority=0

14:16:44:414 PG1A-opc &%: CSTARouteRequest_PD: COC=(CID=16799324 DevID=7311
DevIDType=Static) PrefAGSTID=-1 RouteData=(DevNum=-1 DevIDType=-1
DNIS=)RRType=TRANSFER ECCSize=38

14:16:44:414 PG1A-opc %3: CSTAUpdateConsultativeCallsContext-UpdateCOCPointers
Original(16799324) Consult(2130706434)

14:16:44:414 PG1A-opc F™: AddRoutedCall:: XreflD=65540 CalllD=2130706434

OO|ME S| M &517F MAHE|X|BF {7 12.5 O350l A ®FO|& 0| E AIELICE
CALLGUID ME 7} @1&LIC} OperationTypeO| 1222 A CALLGUID7} A AL
Ct.

14:16:44:414 PG1A-opc &=™: SendINRCMessage: NEW_CALL RCID=5000 PID=5000
DID=65540 DIDRelSeq#=0 GrpDelKey=5000 CRS(RtrDate=154323,RtrCID=330) RCKSeq#=3
NICCallID={N/A} PGCallID={N/A} OperationCode=CLASSIC Flags=COOP_NONEParty#=111
CallingParty#=7311 CED=111 MsgOrigin=1 RouteDevType=6 Originator=-1 NICCalledParty#=
NetDelay=0 Priority=0 OrigType=0 atVRU=F CLIDRestrict=F PrefAGSTID=-1 MRDomainID=1
LegacyPreCallMsgEnabled=T CID=2130706434, ServiceReq=0 QueueType=-1 QueuelD=0

14:16:44:414 PG1A-opc &%: ICR_NEW_CALL_REQ: PID=5000 RCID=5000 CID=2130706434
XReflID=65540 DN=111 ANI=7311 CED=111 RouteDevType=6 Orig=-1 Pri=0
RtrCallKey=(154323-330) Seq#=3 Op=CLASSIC OpFlags=COOP_NONE NICCalledParty=
NICCalllD {N/A} PGCallID={N/A} RouteData=(DevNum=-1 DevType=-1 DNIS=) ECCSize=38
PrefAG=-1

14:16:44:414 PG1A-opc =21: ICR_CONNECT: RCID=5000 CID=2130706434 XReflD=65540
RoutelD=-1 RouteSelect=88888888881024 RouteSelectState=0 TRPerTID=-1 ErrorCode=0
RCK=(154323-330) UUI= ECCSize=38 ECCPayloadID=1

AEFRI0| M3} 3|0|S MEHS T PSTN & AIKE AR RIT VR ZHoll S 517} ¢
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14:16:54:577 PG1A-opc &: CSTA_CONFERENCED(PID=5000):
PrimCall=(CID=16799324,Dev=7311,Type=Static)
SecCall=(CID=16799325,Dev=55500088888888881024,Type=Dynamic)
ConfController=(DEV)7311 AddedParty=(2|5)55500088888888881024
Party=(CID=16799324,Dev=55500088888888881024,Type=Dynamic)
localConnlinfo(3)=CS_CONNECT cause=-1

14:16:54:577 PG1A-opc F2: Call:SetCallState (PID=5000) - CalllD=16799324
CallObj=(0x4b705b0) NewState=CONNECTED OldState=NONE.

14:16:54:577 PG1A-opc =™: Call::AddConferenceParty - Conference
party(calllD=16799324(0x4b705b0) Device=5150000 DevType=Dynamic)
CallObj=(0x4b70ae8)(numParties=1)E & Z35l7| I3 16799324.
14:16:54:577 PG1A-opc =™: Call::AddConferenceParty - Conference



party(calllD=16799324(0x4b760d8) Device=7311 DevType=Static)
CallObj=(0x4b70ae8)(numParties=2) £ &16799324 F7}+|& LICH.

14:16:54:577 PG1A-opc &21: Call::AddConferenceParty - Conference
party(calllD=16799324(0x4b791a0) Device=55500088888888881024 DevType=Dynamic)
CallObj=(0x4b70ae8)(numParties=3)& & 75t7| ?I5l 16799324.

14:16:54:57 PG1A-opc F™: CSTAConferencedEvent - 138} 3| 9| & 7} Xl (calllD=16799324
Device=55500088888888881024 DevType=Dynamic)

TCD(S 2 &3 M5 HE) Ef|lo|20iAM CHE CALLGUIDE 2 = JU&LICt

| H | J N | aw BT
RouterCallKkeyDay RouterCallkey DateTime  CallDisposition ANI CallGuID
154323 330 12:16:29 AM 13 5150000 FSEDF200000100000000001A07990A0E
154323 330 12:17:15AM 13 7311 1A1DB10C0000100000000003604A990A0E
154323 320 12:17:15 AM 13 7311 1A1DB10000010000000000360A990A0E
154323 330 12:17:36 AM 30 5150000 FSEDF200000100000000001A07990A0E
154323 3320 12:17:36 AM 14 73211 NULL
154323 330 12:17:37 AM 52 5150000 FSEDF200000L00000000001LA07990A0E
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